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PUBLIC ADMINISTRATION
" Paper 11

Time Allowed : l-:— Hours] [Maximum Marks : 100

Note :— This paper contains fifty (50) multiple choice questions. Each question
carries two (2) marks. Attempt all questions.

1. Who among the following is associated with the idea of dichotomy between
politics and administration ?
(A) Woodrow Wilson (B) Max Weber
(C) F.W. Taylor (D) Elton Mayo

2. Who, among the following was influenced by Walter Bagehot while formu-
lating his views on -public administration 7

(A) Herbert Simon (B) Charles Lindblom
(C) Chester Barnard (D) Woodrow Wilson
3. Match the following and select the correct answer from the codes giver
below :
(1) Henry Fayol {a) Rational Decision making
(2) Max Weber (b) Ideal form of organization
(3) Elton Mayo (c) Fourteen Principles
{4) Herbert Simon (d) Human relations
Codes :
(1) (2) (3) (4)
(A) {a) (b) (e) (d)
(B) (d) (e) (b) (a)
(C) d) (b) (@) ()
(D) {c) (b) (d) (a)
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4. While defining authority who, among the following argued that “authority
belongs to the job and stays with the job".

(A) Chris Argyris (B) Fred Riggs
(C) Mary Follett . (D) Douglas McGregor
5. “The Human Problems of an Industrial Civilization” was written by :
(A) Karl Marx (B) Mary Follett
(C) Elton Mayo (D) Cyril Parkinson

6. New Public Administration is associated with :
(A) Minnowbrook Conference 1 (B) Minnowbrook Conference I1
(C) Minnowbrook Conference III (D) Chicago Conference I

7. Who, among the following is associated with Sala model of public

administration ?

(A) Chester Barnard (B) Mary Follett

(C) Fred Riggs (D) Herbert Simon
8. The Comptroller and Auditor General of India performs :

(A) only audit functions

(B) only accounting functions

(C) both audit and accounting functions

(D) accounting, auditing and judicial functions
T.B.C. : 21/14/ET—I1 4
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9. Match the following and select the correct answer from the codes given

below :
(1) Karl Marx (a¢)  Bureaucracy
(2) Max Weber (b) Esteem Needs
(3) Abraham Maslow ) (c) Spirit of capitalism
(4) Frederick Herzberg (d) Recognition for Achievement
Codes :
(1) (2) (3) (4)
(A) (@) (b). (c) | (d)
® @ @ () ©
©  ® (e) ) (@)
(D) (a) (c) (b) (d)
10. The idea of “refracted society” is critical to :
(A) Rational Decision making (B) Incremental model
(C) Prismatic model _ (D) Decolonization model
11. The 1995 Avadi meet of the Indian National Congress encouraged :
(A) Public Sector
(B) Private sector

(C)

(D)

Both public and private sectors

Indigenous initiatives

T.B.C. : 21/14/ET—11 6
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12.

13.

14,

15.

T.B.C. :

The ‘Garbage Can Model’ was developed by :

(A) Herbert Simon, Chester Barnard and Chris Argyris

(B) Karl Marx, Frederick Engels and V.I. Lenin

(C) Michael D. Cohen, James G, March and Johan P. Obsen
(D) Mahatma Gandhi, Jawaharlal Nehru and Jayaprakash Narayan
Components of research design are :

(A) Comparison, manipulation and control

(B) Causal networks, politicking and hindsight

(C) Log-table, enumeration and skill development

(D) Division, elaboration and computation

The aim of research is :

(A) to explore knowledge

(B) to study a phenomenon in depth

(C) to confirm/disprove a hypothesis

(D) all of the above

Who. among the following, devised the idea of “systematic import™ ?

(A) Carl Hempel (B) Karl Mannheim
(C) Amartya Sen (D) Mehbub Khan
21/14/ET—I11 8
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16.  Ad-hoc classificatory system is a part of :
(A) Sampling (B) Questionnaire
(C) Structure interview (D) Informal chat
17.  The structure of admim':v,tration in various Union territories :
(A) has been prescribed in the Constitution
(B) is determined by the Union Home Minister
(C) is determined by the President
(D) is designed by Parliament

18.  According to Article 40, ‘The state shell take steps to organize ‘X’ and endow
them with such power and authority, as may be necessary to enable them
to function as units of Self-Government’, in this Article ‘X’ means :

(A) Village Panchayats (B) Zilla Parishads
(C) Inter-State Council (D) None of these

19. After a bill is passed by Parliament and sent to the President he/she

can :

(A) refuse to give ascent
(B) sit over it

(C) suggest changes

(D) send back to Parliament for reconsideration

T.B.C. : 21/14/ET—I1 10
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20. The Prime Minister is the Chairman of :
(A) The NITI Aayvog
(B) The Minorities Commission
(C} The Finance Commission
(D) None of the above |

21. Assertion (A) : If the budget presented to the Rajya Sabha is not passed
within the stipulated period, the budget proposals are not affected.

Reason (R) : In financial matters, the Lok Sabha is more powerful than
Rajya Sabha.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is the not the correct explanation
of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

22. Which of the following Parliamentary Committee scrutinizes the report of the
Comptroller and Auditor General of India ?

(A) The Estimates Committee

(B) The Public Accounts Committee

{C) The Committee on Public Undertakings
(D) All of the above

T.B.C. : 21/14/ET—I1 12
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23. Generally, the Governor of a state in India

(A)

(B)

(C)

(D)

24. While seeking to discipline bureaucracy, Max Weber supports :

(A)

AB)

(C)

(D)

25. The

(A)

(B)

<)

()

The State where he holds charges
Some other state
The Indian Admini.strat.ive Service

None of the above

Internal Accountability
External Accountability
Monarchical Control

All of the above

1991 New Economic Policy welcomed :

Socialistic Pattern of Society

Mixed Economy

Economic Liberalization

None of the above

T.B.C. : 21/14/ET—I1 14
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26.

27.

Who of the following administrative thinkers have defined public adminis-

tration as ‘The accomplishment of politically determined objectives’ ?
({A) L.D. White and Luther Gullick

(B} Dimock and Dimock

(C) J.M. Pfiffner and M. Weber

(D) H.A. Simon and Chester Barnard

Who defined Public Administration as the heart of the problem of modern

Government” 7
(A) L.D. White (B) W.B. Donham
(C) Charles A. Beard (D) P.H. Appleby

Herbert A. Simon described the Principles of Administration as proverbs,
because :

(1) They are not based upon scientific research
(2) 'Their universal application is upheld
(3) They are logically inconsistent and mutually contradictory

(4) They are commonsense conclusions derived from experience

Select the correct code :
(A) (1), (3) and (4) (B) (1) and (2)

(C) (1), (2) and (3) (D) (1), (2) and {4)

T.B.C. : 2114/ET—II 16
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29. Which of the following pairs is not correctly matched ?

(A) Administrative Development - Robert Dahl

(B} Comparative Public Administration — F.W. Riggs

(C) New Public Administration ~ — Dwight Waldo
(D) Development Administration — Edward Weidner

30. The principles of scientific management developed by F.W. Taylor did not

include :
{(A) Mental Revolution
(B) Scientific selection and training
(C) Division of responsibility
(D) Esprit de corps
31. The ‘Prismatic Sala’ model developed by Riggs aims at studying :
(A) Administration in post-industrial societies
(B) Administration in developing countries
(C) Administration in developed countries
(D) Administration in primitive societies

T.B.C. : 21/14/ET-1I 18
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32, Match List 1 with List I and select the correct answer by using the codes

given below the lists :
List I (Book)
(1) Bureaucracy and Society in
Modern Egypt
(2) Administration in Developing
Countries : The Theory of
Prismatic Society
(3) The Science of Public Administration
Three Problems '

(4) Public Administration : A Comparative

Perspective
Codes :
(1) (2) (3) (4)
(A) (d) (c) (a) (b)
(B) (e) (d) (b) (@)
() (b) (c) (d) (a)
(D) (@) ) (c} (d)

List Il (Authors)

(@) Ferrel Heady

(b) Morroe Berger

{¢c) Fred Riggs

(d) Robert Dahl

33. Development Administration is “An action-oriented, goal—oriented

administrative gystem,” This definition is given by :

(A) F.W. Riggs (B) Merle Fainsod

(C) R.XK. Hope (D) Edward Weidner

T.B.C. : 21N4/ET-11 20
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34.

Which one of the following statements is correct ?

(A)

(B)

(C)

(D)

‘PDevelopment Administration’ is one of the oldest concept in Public

Administration

The concept of Development Administration is a post-World war I phe-

nomenon

Development Administration is mainly a post-World War II phenomenon

The idea of Development Administration originated in the pre-colonial

period :

Which of the following is based on the belief that “India may be governed

from Simla or Calcutta, but i administered from the plains ;)

(A)

(B)

Tenure system of Secretariat.St,afﬁng

Split system of Secretariat Organization

(C) Office of the District Collector

(D) Attached and subordinate offices

Cabinet Secretariat is a :

(A) Line agency (B) Staff agency

(C)

Auxiliary and staff agency (D) Line and staff agency

T.B.C. : 21/14/ET—11 22
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37.

38.

39.

The first committee to recommend for the establishment of an Ombudsman

type of institution in India was :

(A) First Administrative Reform Commission
(B) Santhanam Committee
(C) Gorwala Committee
(D) Moily Commission

“Officials make work for each other.” This is said by :

(A) Peter Drucker (B) H. Finer
(C) Ramsay Muir (D) R. Parkinson
Match List I with List.II and select the correct answer from the codes given
below :

List I (Training) List II (Location)
(&) Training of IAS (1) New Delhi
(i}  Training of IPS (2) Dehradun
(i) Training of Indian Forest Service (3) Hyderabad
(iv) Training of Indian Foreign Service (4) Mussoorie
Codes :

(&) (i) (i) (iv)
(A) (4) (1) (3) (2)
(B) (1) (2) (3) (4)
() (2) (4) (1) (3)
(D) (4) (3) (2) (1)

T.B.C. : 21114/ET—I1 24
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40. The 73rd and 74th Amendment Acts provide for :
(1) Reservation for women
(2) State Election Commission
(3) State Finance Commissi;)n
(4) Three-tier system
Select the correct code from the options given below :
(A) (1) and (2) (B) (2), (3) and (4)
(C) (1), (2), (3) and (4) (D) (1) and (4)
41. National Institute for Transforming India (NITI) Aayog replaced :
(A) Planning Commission (B) Finance Commission

(C) Inter-State Council (D) Zonal Council

42, The Performance Budget has been introduced in India on the recommenda-

tion of :

(A) First Administrative Reforms Commission
(B) Appleby Report

(C) Estimates Committee

(D) Hota Committee

T.B.C. : 21/14/ET—II 26
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7351 wa 74al "ehye SfufEm umuem w59 ¥

(1) wfzensli & fou amaw

(2) =9 A= FAEM

(3) == faw zmam

(4) i =maen

Freafafas fTecg § 9 9 312 51 939 s

(A) (1) 7= (2) | (B) (2), (3) 91 (4)
(©C) (1), (2), (3)'5211(4; (D) (1) 991 (4)
Fye sheee Wi gawriEn sfem (ifa) smEm 3 e faan '
(A) T9 Em B) fa= smEm
(C) =g ufteg (D) =iFAa aiEg
yra § Fooes ase fFus ggEl = 3F & o ?
(A) 99" wenEiEE gUR 2Em

(B) uwersEt R

(C) u=EMz FHA

(D) &= Haa
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43. Public Grievances can be redressed by :
(A) Right to Education
(B) Right to Information
(C) Right to Liberty
(D) Right to Equality

44. Which of the following committees recommended the creation of Indian Institute

of Public Administration (ITPA) ?
(A) Gorwala Committee
(B) Appleby Committee
(C) Hota Committee
(D) First Administrative Reform Commission
45. The office of a District Collector was created by :
(A) Robert Clive (B) Lord Cornwallis
(C) Lord Warren Hastings (D) Lord Wellesley
46. Right to Education was made a Fundamental Right by the :
(A) 86th Amendment Act (B) 87th Amendment Act
(C) 88th Amendment Act (D) 89th Amendment Act
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(D) \EFa & FAEEHR G0
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(A) TirETen HRE
(B) UCTEl wHE

(C) wa A
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47.

49.

50.

Mahatma Gandhi National Rural Employment Guarantee Act (MNREGA) is
related to :

(A) Water Provision (B) Employment Generation
(C) Health Facility (D) Women Empowerment

-

The British Counterpart of the Municipal Corporation type of Local Self-

Government of India is :
(A) Borough (B) Urban District
(C) County Borough (D) County

Which of the followirg in the basic territorial unit of Administration in
India ?

(A) Revenue Divisional Sub-division
(B) Tehsil/Mandal

(C) District/Zila

(D) Village

Which of the following committee recommended for a two-tier of Panchayati
Raj System in India ?

(A) Balwantray Mehta Committee
(B) G.V.K. Rao Committee
(C) Ashok Mehta Committee

(D) L.M. Singhvi Committee
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